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 答案解析：

对舞蹈动作进行两两比较，从开始到结束，每次动作仅有一只手臂或一只腿变

化，图示中的舞蹈动作应为15234

-----------------------------------------------------

2.奇妙的重复

。

单选题

1.跳舞的小人

Part A: Answers         1–6

答案：(C)

答案：(C

答案解析：

根据对图示中的五边形进行拆解可以发现，构造出的图案最外边的每一条边都

对应一个五边形，一共有10条边，故对应10个五边形。

)



Computational and Algorithmic Thinking 2020 (Upper Primary) 2

             

     
                  

  
  
  

                            

3.破解密码

答案：(B)

答案解析：

根据先横后纵交叉对应，可以找到密码依次为luck。

4.色彩绚丽的花朵

-----------------------------------------------------

答案解析：

对比两次开花的情况，可以确定1、3、5位置上的花都开了，颜色即为猜测的结

果，粉色、蓝色、橙色；2、4位置上的花没有开，颜色不为猜测的结果，即2位

置不是粉色，也不是橙色，故只能是蓝色；4位置上不是橙色、也不是蓝色，故

只能是粉色。

答案：(C)
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2. What is the Order?

The symbols � , � , � , � , � , and� , have to be arranged in a certain order. You
are given clues to help you:

� comes before � � comes before � � comes before �
� comes before � � comes before � � comes before �
� comes before �

What is the final order?
(A) � � � � � �
(B) � � � � � �
(C) � � � � � �
(D) � � � � � �
(E) � � � � � �

3. Opening the Safe

To open the safe you must press the ‘Open’ button.
However, you must first press all of the other buttons exactly once in the correct order.
This can only be done by following the directions on the buttons. For instance, the
middle button in the rightmost column has the direction L3. After pressing it, you
would move three places to the left and then press the R1 button in the leftmost column.

U2 L1 U1 Open

R1 U1 R1 L3

R2 R2 D2 D2

A B C

D E

U = up
D = down
L = left
R = right

Which button should you press first?

(A) A (B) B (C) C (D) D (E) E
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5.动物识别

 

答案：(C

答案解析：

从图示可以看到，耳朵占据约2个格子，头占据约8个格子，所以耳朵是头高

的四分之一；胡子占据约4个格子，头宽占据约8个格子，胡子的宽度是头宽

的一半；头宽占据约8个格子，头高占据约8个格子，头部宽度与头高相等。

综合三个数据判断动物为熊。

)

-----------------------------------------------------

6.

答案：(D

答案解析：

小米说想坐右侧，左侧的座位全部排除；小丽希望三个人挨着，那么排除右侧

D、E、G排；小可说不要坐在前三排，那么排除右侧A、B、C排；故满足条件的

座位如图所示，有6种不同情况。

)

最佳座位
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7.串珠游戏

Part B: Answers 7–9

简答题

4

  

             

        

           
      

答案解析：

步骤如下图所示。

问题1：8次。

答案解析：

步骤如下图所示。

问题2：7次。
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6. Shared Screen

On a shared internet site, five participants are typing at the same time. Whatever they
type appears on a shared screen.
Each participant has their own code name in the form of a three-digit number that they
type repeatedly.
Adam 4 3 4
Blair 1 1 1
Codey 0 2 0
Dai 2 1 2
Era 3 0 3

For instance, if Adam and Blair were typing,
4 3 1 1 4 4 1 3 4 or 1 1 4 3 1 4 4 3 4
could result from Adam typing his code word twice and Blair his code word once.
What appears on the shared screen is:
3 0 2 1 1 1 1 0 2 4 3 4 3 2 4 2 0 3 3 4 1 2 0 2 4 3 4 3 3 0 3 1 2 2 1 2
Who types their code word most often?

(A) Adam (B) Blair (C) Codey (D) Dai (E) Era

Computational and Algorithmic Thinking 2020 (Upper Primary) 5

  

          

答案解析：

步骤如下图所示。

8.

问题3：7次。

-----------------------------------------------------

保护珍惜树木

问题1：24

答案解析：

6×4=24棵。

棵。
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答案解析：

种植5行水杉需要11×11的区域，故柏树为10×4=40棵。

问题2：40棵。
6

           

答案解析：

种植16棵水杉，每行4棵，一共4行，需要9×9的区域，

故柏树需要8×4=32棵。

问题3：32棵。
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8. Skyscrapers

In the city of Skytopia, skyscrapers have been built in a grid. You would like to build a
radio tower in one of the squares of this grid, so that its signal reaches as many skyscrap-
ers as possible. Some restrictions apply:

• The signal can only reach skyscrapers in the same row or column.

• The radio tower cannot be built on a square that already contains a skyscraper.

In the grid below the skyscrapers are in the shaded squares. Signals from a radio tower
in either of the squares with a ᵀ could reach at most 3 skyscrapers.

ᵀ

ᵀ

For each of the following grids, in how many squares could you build a radio tower so
that its signal reaches as many skyscrapers as possible? (2 in the above example.)

A. B.

C.
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9.滚动的小球

答案解析：

如下图所示。

问题1：数字4。
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问题2：数字2。

答案解析：

如下图所示。
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注意问题3中是按照B、A顺序弹出，与问题1、问题2的弹出顺序相反。

6

8. Skyscrapers

In the city of Skytopia, skyscrapers have been built in a grid. You would like to build a
radio tower in one of the squares of this grid, so that its signal reaches as many skyscrap-
ers as possible. Some restrictions apply:

• The signal can only reach skyscrapers in the same row or column.

• The radio tower cannot be built on a square that already contains a skyscraper.

In the grid below the skyscrapers are in the shaded squares. Signals from a radio tower
in either of the squares with a ᵀ could reach at most 3 skyscrapers.

ᵀ

ᵀ

For each of the following grids, in how many squares could you build a radio tower so
that its signal reaches as many skyscrapers as possible? (2 in the above example.)

A. B.

C.
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问题3：数字1。

答案解析：

如下图所示。




